
Exploded diagram and spare parts list          (DK775 DN975)  Rev.1 

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa‐service.co.uk 

 



Exploded diagram and spare parts list          (DK775 DN975)  Rev.1 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa‐service.co.uk 

Machine  Explode      Code     Description 
Buffalo Digital Pass Through Dishwasher  1   Hood H Type Hood Body Welded Assembly 
Buffalo Digital Pass Through Dishwasher  2   Hood Handle Side Guide 
Buffalo Digital Pass Through Dishwasher  3   M8 Nylon Insert Lock Nut 
Buffalo Digital Pass Through Dishwasher  4   M10 Inox Nut 
Buffalo Digital Pass Through Dishwasher  5   Hood H Type Spacer For Hinges 
Buffalo Digital Pass Through Dishwasher  6   Bushing For Spring Hook Tie‐Rod 
Buffalo Digital Pass Through Dishwasher  7   Hook Tie‐Rod For Spring M10 Partial Threaded 
Buffalo Digital Pass Through Dishwasher  8   Hood Spring 
Buffalo Digital Pass Through Dishwasher  9   Spring Suspension Bracket 
Buffalo Digital Pass Through Dishwasher  10   Handle Support Plate Blank Filling Part‐Right 
Buffalo Digital Pass Through Dishwasher  11   Handle Support Plate Blank Filling Part‐Left 
Buffalo Digital Pass Through Dishwasher  12   Hood H Type Handle Welded Assembly 
Buffalo Digital Pass Through Dishwasher  13   Rubber Bumper 
Buffalo Digital Pass Through Dishwasher  14   M8 Nylon Insert Lock Nut 
Buffalo Digital Pass Through Dishwasher  15   Hood H Type Spring Bushing Part 
Buffalo Digital Pass Through Dishwasher  16   Handle Spring Plate Blank Filling Part 
Buffalo Digital Pass Through Dishwasher  17   Spring Connection Shaft 
Buffalo Digital Pass Through Dishwasher  18   Hood Support Bracket 
Buffalo Digital Pass Through Dishwasher  19   Slide Pulley Bolt 
Buffalo Digital Pass Through Dishwasher  20   Hood Pulley 
Buffalo Digital Pass Through Dishwasher  21   M8 Washer Supporting Ring 
Buffalo Digital Pass Through Dishwasher  22   M8 Nylon Insert Lock Nut 
Buffalo Digital Pass Through Dishwasher  23   M6 Hex Nut With Flange 
Buffalo Digital Pass Through Dishwasher  24   Washing Tank Heater Cover 
Buffalo Digital Pass Through Dishwasher  25  AT374  Washing Tank Heater 2000W 230V 
Buffalo Digital Pass Through Dishwasher  26   M5 Domed Cup Nut 
Buffalo Digital Pass Through Dishwasher  27   Tank Heater Fixing Plate 
Buffalo Digital Pass Through Dishwasher  28   Thermostat Prob Fixing Plate 
Buffalo Digital Pass Through Dishwasher  29   M4 Nylon Insert Lock Nut 
Buffalo Digital Pass Through Dishwasher  30  AT370  Digital Screen 
Buffalo Digital Pass Through Dishwasher  31   Front Panel 
Buffalo Digital Pass Through Dishwasher  32   Detergent&Rinse Aid Hose Seal 
Buffalo Digital Pass Through Dishwasher  33   Door Switch And Magnet Group Plate 
Buffalo Digital Pass Through Dishwasher  34  AT371  Magnetic Switch 
Buffalo Digital Pass Through Dishwasher  35   Magnet Group 
Buffalo Digital Pass Through Dishwasher  36   Gasket For Air Trap 
Buffalo Digital Pass Through Dishwasher  37   M5 Hex Nut With Flange 
Buffalo Digital Pass Through Dishwasher  38   Air Trap ( Plastic ) 
Buffalo Digital Pass Through Dishwasher  39   Hose ( Pressure Switch ) 
Buffalo Digital Pass Through Dishwasher  40  AT378  Pressure Switch 
Buffalo Digital Pass Through Dishwasher  41   M4*10 Ysb Screw 
Buffalo Digital Pass Through Dishwasher  42   Handle Cut Cover 
Buffalo Digital Pass Through Dishwasher  43   Rear External Cover 
Buffalo Digital Pass Through Dishwasher  44   Hood H Type Drain Plug 



Exploded diagram and spare parts list          (DK775 DN975)  Rev.1 

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa‐service.co.uk 

Machine  Explode      Code     Description 
Buffalo Digital Pass Through Dishwasher  45   Drain Plug O‐Ring 
Buffalo Digital Pass Through Dishwasher  46   Suction Filter Top Part 
Buffalo Digital Pass Through Dishwasher  47   Suction Filter Center Part 
Buffalo Digital Pass Through Dishwasher  48   Suction Filter Seal 
Buffalo Digital Pass Through Dishwasher  49   Suction Filter Lower Part 
Buffalo Digital Pass Through Dishwasher  50   Drain Pump Connection Hose 
Buffalo Digital Pass Through Dishwasher  51   Water Inlet Nut Bottom 
Buffalo Digital Pass Through Dishwasher  52   Nut 
Buffalo Digital Pass Through Dishwasher  53   Drain Pump Connection Plate 
Buffalo Digital Pass Through Dishwasher  54   Drain Hose(For The Models That Have Drain Pump) 
Buffalo Digital Pass Through Dishwasher  55  AT373  Drain Pump 
Buffalo Digital Pass Through Dishwasher  56   Washing Pump Connecting Hose 
Buffalo Digital Pass Through Dishwasher  57  AT372  Washing Pump ( For 50 Hz Machines ) 
Buffalo Digital Pass Through Dishwasher  58   Hood Type Washing Distribution Hose 
Buffalo Digital Pass Through Dishwasher  59   Water Inlet Bottom 
Buffalo Digital Pass Through Dishwasher  60   Water Inlet Seal Bottom 
Buffalo Digital Pass Through Dishwasher  61   Water Inlet Nut Bottom 
Buffalo Digital Pass Through Dishwasher  62   Water Inlet Part Bottom 
Buffalo Digital Pass Through Dishwasher  63   Navel Axle 
Buffalo Digital Pass Through Dishwasher  64   Washing Arm Part (Plastic Part) 
Buffalo Digital Pass Through Dishwasher  65   Special Screw M8 
Buffalo Digital Pass Through Dishwasher  66   Water Inlet Elbow Top 
Buffalo Digital Pass Through Dishwasher  67   Washing Hose Top Part Nut 
Buffalo Digital Pass Through Dishwasher  68   Washing Hose Top Part Seal 
Buffalo Digital Pass Through Dishwasher  69   Washing Hose Top Part (Pp) 
Buffalo Digital Pass Through Dishwasher  70   Hose 
Buffalo Digital Pass Through Dishwasher  71   Rinsing Connection Part 
Buffalo Digital Pass Through Dishwasher  72   Hose 
Buffalo Digital Pass Through Dishwasher  73  AT376  Rinsing Pump 
Buffalo Digital Pass Through Dishwasher  74   Rinsing Pump Connection Plate 
Buffalo Digital Pass Through Dishwasher  75   Hose 
Buffalo Digital Pass Through Dishwasher  76   1080 Boiler Tank 
Buffalo Digital Pass Through Dishwasher  77  AT375  Boiler Heater for DN975 
Buffalo Digital Pass Through Dishwasher  78   Boiler Tank Heater Cover 
Buffalo Digital Pass Through Dishwasher  79  AT380  Rinse‐Aid Connection Check Valve 
Buffalo Digital Pass Through Dishwasher  80   Klinger Gasket 1/2" 
Buffalo Digital Pass Through Dishwasher  81   Water Inlet Hose 
Buffalo Digital Pass Through Dishwasher  82  AT386  Water Inlet Valve 
Buffalo Digital Pass Through Dishwasher  83   Hose 
Buffalo Digital Pass Through Dishwasher  84   Air Breaker Ab Type 
Buffalo Digital Pass Through Dishwasher  85   Blind Plug 
Buffalo Digital Pass Through Dishwasher  86   Air Breaker Gasket 
Buffalo Digital Pass Through Dishwasher  87   Air Breaker Nut 
Buffalo Digital Pass Through Dishwasher  88   Cover 
Buffalo Digital Pass Through Dishwasher  89   Union And Nut (3/4" Wrass ) Stainless 



Exploded diagram and spare parts list          (DK775 DN975)  Rev.1 

4 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa‐service.co.uk 

Machine  Explode      Code     Description 
Buffalo Digital Pass Through Dishwasher  90   Union Gasket 
Buffalo Digital Pass Through Dishwasher  91   Hose 
Buffalo Digital Pass Through Dishwasher  92   Rinsing Arm(Without Nut&Nozzle) 
Buffalo Digital Pass Through Dishwasher  93   Rinsing Arm Nut 
Buffalo Digital Pass Through Dishwasher  94   Rinsing Arm Nozzle 
Buffalo Digital Pass Through Dishwasher  95   Washing Arm Nozzle 
Buffalo Digital Pass Through Dishwasher  96   Washing Arm Nut 
Buffalo Digital Pass Through Dishwasher  97   Washing Arm (Without Nut&Nozzle) 
Buffalo Digital Pass Through Dishwasher  98   Collector(Washing&Rinsing) 
Buffalo Digital Pass Through Dishwasher  99   Pvc Transparent Curtain For Electrical Panel 
Buffalo Digital Pass Through Dishwasher  100   Electrical Panel Group 
Buffalo Digital Pass Through Dishwasher  101   Pressure Switch Connection Cable 
Buffalo Digital Pass Through Dishwasher  102  AT381  Touch Power Box 
Buffalo Digital Pass Through Dishwasher  103   Contactor Dileem‐10 Xtmc6A10 
Buffalo Digital Pass Through Dishwasher  104   Contactor Dilm 12‐01 
Buffalo Digital Pass Through Dishwasher  105   Klemens Stopper Wgd‐1 
Buffalo Digital Pass Through Dishwasher  106   Automat C Cls4‐C25/3 (3X25A) 
Buffalo Digital Pass Through Dishwasher  107   Terminal Avk 10 Blue 
Buffalo Digital Pass Through Dishwasher  108   Teminal Pek‐10 Klemsa 
Buffalo Digital Pass Through Dishwasher  109   M4 Hex Nut With Flange 
Buffalo Digital Pass Through Dishwasher  110   M4*16 Yhb Inox Bolt 
Buffalo Digital Pass Through Dishwasher  111   Detergent / Rinse Aid Pump Connection Plate 
Buffalo Digital Pass Through Dishwasher  112  AT382  Rinse Aid Pump 
Buffalo Digital Pass Through Dishwasher  113  AT384  Inner Rinse Aid Pump Tube 
Buffalo Digital Pass Through Dishwasher  114   Rinse Aid Pump Hose ( Blue ) ( 4 Meters ) 
Buffalo Digital Pass Through Dishwasher  115   Spring Dosing Hose Cover 
Buffalo Digital Pass Through Dishwasher  116   Detergent/Rinse Aid Pumps Tainles Steel Weight 
Buffalo Digital Pass Through Dishwasher  117   Detergent/Rinse Aid Pump Plastic Filter 
Buffalo Digital Pass Through Dishwasher  118   Cable Tie 
Buffalo Digital Pass Through Dishwasher  119   Detergent Pump Tank Connecion Part 
Buffalo Digital Pass Through Dishwasher  120   Detergent Pump Hose ( Transparent ) 
Buffalo Digital Pass Through Dishwasher  121  AT385  Inner Detergent Pump Tube 
Buffalo Digital Pass Through Dishwasher  122  AT383  Detergent Pump 
Buffalo Digital Pass Through Dishwasher  123   Stainless Steel Strainer With Handle 
Buffalo Digital Pass Through Dishwasher  124   Hood Type Rack Holder 

 


